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PART I: GOING FROM STANDARD FORM - TO FACTORED FORM - TO THE SOLUTIONS:

1. x*-7x-30=0 2. x®2+14=9x 3. X*+x=20

(x-0\(x23)=0 Y-qx+14 =0 %2 +%-20=0
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PART II: GOING FROM SOLUTIONS -TO F A( TORED FORM - TO STANDARD FORM:

4. x=-3 and 8 5. x=—-= and 6 0’9?% 6. x= g and —=

(x+B(x-8)= Qz;c+ D(x =0 (2)(»-33<Z>0‘\'b:0
F‘— ox-14=0 L~ X+ -6=0 UZ+ 2~ lox-320
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PART III: FACTORING IF THE LEAD COEFFICIENT IS NOT ,l (DIVIDE OUT FIRST IF YOU CAN!):

7. 4X*+4x-24=0 x*-3x-5=0 9. 3x*-13x-10=0
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PUTTING IT ALL TOGETHER!!!

FACTOR AND SOLVE: w1l oj( ‘V‘

10. 2x*+8x-42=0 o 'G“s 11. 3X*+11x-4=0
ZQXZ*W-ZB =0 ng-\)tx +L{\ =0
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